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®y=-x+1

@ x+y=5

®y=1

® y=x*+2

=4
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®y=-1

@ y=x

®x-y=1

@ y=x+x+1
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@ y=-
X



9. oF% % UAFRY AL

@ x(x-1)+2=x*+x-8-y
O 2x=8-x

©® 4y=2(x+2y)+3

@ y=ux

® 6x+3=23x-y)
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@y—g @y:—}+3
@y—%x+3 @ y=-3(x+1)

@ y=x(x+1) ® xy=3

@y—xgl © y=2x
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11. 5 F (@a-1x—(b-3)y+c =0 °] A&7t HA = A4
a, b, ¢ o 327

@D a=1,b=3,c=2 ©a=-1,b=3,c=3

© a=-1, b=-3,c=5 ® a=-3,b=-1,c=1

@ a=3 b=1lc=-1
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14.

©® 3y=(a+1)x+3
® (a-2)y=3x-a

® B-a)x+4y=0b

FdFEy=(a-b+1)x+4da-1,y=(a+b-5)x+5b7} =
Aapete7E obd o, o S LAR7F ofd A2?

@ y=(a+b)x+b

@ (b-2)y=(a—1)x+4
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